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Use the Quadratic Formula to solve the following quadratic equation:
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Suppose you're not good at factoring, but you can use the quadratic formula. You can
use your answers to reverse-engineer the factored form of the quadratic expression!

Use the Quadratic Formula to solve the following quadratic equation:
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Use the Quadratic Formula to solve the following quadratic equation:
6.2x> +15.63x—20=0 @ -02 ,b=563 ¢=-20
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Use the Quadratic Formula to solve the following quadratic equation:
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Use Factoring to solve the following quadratic equation:
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Use Completing the Square to solve the following quadratic equation:
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Use Completing the Square. tg solve the following quadratic equation:
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Use Completing the Square. to solve the following quadratic equation:
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Use Completing the Square. to solve the following quadratic equation:

3x +5x-3=0
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